gk9

[#hir] Btz (IR AT BIRTICR T 2 BRI SOV T

N =)

EERom EAUa 2 =7 4 N 20 AREEZ BIES

. NRE

MNTEE D GHES

i

SRR RS AAUTETH2 1H (H) &
WIHBTBERMIR - AFOTE7HSH () ~2 0H () XEFAIC X 2R3 1 1 HiHE

4. & H
ORIy 13085

H

ZEa (BHHRN) »Hadd

5. i H
1 1HM<1 2 3 KA (€A
=i/ | SRR, | BERER/ PN AR N - PR &t
SR | SR 5 FH PG A
7H5H 3 1 4
7H8H 2 8 1 11
7TH9H 8 4 2 14
7H 10 H 1 6 6 5 18
7H11H 4 3 5 2 14
7H 12 H 6 3 1 5 15
7H 15 H 1 1 7 9
7H 16 H 3 3 2 8
7H17H 2 2 1 1 6
7H 18 H 3 4 4 2 13
7H19H 3 4 3 1 11
13 47 37 7 19 123
6. Zofth

HMHAMREED S B
X H AT AR

¥1%oHRala=T42%FH
15,073 A (FifFT: 6,495 A FEHARAE: 4,07 8 )




